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Find	
  the	
  equation	
  of	
  the	
  straight	
  line	
  that	
  passes	
  through:

Find	
  the	
  equation	
  of	
  the	
  normal	
  to	
  the	
  curve	
  with	
  equation	
  𝑦 = 2𝑥% − 3 𝑥�
at	
  the	
  point	
  where	
  𝑥 = 4:

Write	
  these	
  expressions	
  in	
  the	
  form	
  𝑥*where	
  𝑛 is	
  written	
  in	
  its	
  simplest	
  form:

𝑥%,3𝑥% + 2𝑥 − 12
6𝑥%

𝑥%×𝑥1

𝑥2

(0,-­‐2)	
  and	
  (5,1) (10,4)	
  and	
  (-­‐2,-­‐3)

Find	
  the	
  gradient	
  of	
  𝑓 𝑥 = 2𝑥% − 𝑥 − 1 at	
  the	
  point	
  (2, 5)

Find	
  the	
  gradient	
  of	
  𝑓 𝑥 = 5𝑥% − 8𝑥 + 3 at	
  the	
  point	
  (9
%
, 9
:
)

Given	
  that	
  𝑓 𝑥 = 3 𝑥� + 9
; <�

find	
  =
>?

=<>
:

Find	
  the	
  coordinates	
  of	
  the	
  stationary	
  point	
  on	
  the	
  curve	
  with	
  equation	
  𝑦 = 3𝑥: − 96
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